« o \ 2024-25 np"aa X na''? « o \
5232120 3-n2 435893
19:00 12/01/2025
nNAINR nNXiap nnaNn nXxIiap
M6 n9'n NI 0L 'TON 7RO M2 nyapi' zviosn
M6 no'n |n71w 0L 'TON 7n1D | X aNIap M2 nyapi zyvion A naNI1ap
[IPIR T2 2255 X I9ND 9I'D 8645 A
'PDOPIX 270100 2410 Y 2I771x N7 8661 B
DN IR NP 7970 4 117N 1NN 7001 C
NNYIN
DIDO nidyn X |pnw A |pnw
5 4 3 2 1
0 1 1 3 9/11|8/11|13/15{14/12 [IPIR ' T2 X '9ND II'D A
1 1 3 0 11/7 {12/10{ 11/8 | 'popax a'?7oqavo (Y| a7qaxn?oa |B
2 1 3 1 11/9111/9| 11/8 | 6/11 DN 7INY N y4 117N 1NN C
2 2 2 3 |7/11(8/11|11/9|8/11| 11/8 [IPIR ' T22 X| arzax n2va |B
2 3 0 3 5/11|5/11 | 5/11 DN 7IXY N y4 1I9ND 9I'D A
3 3 3 1 14/12|8/11{ 11/9 | 11/9| *popx a7o1avo |Y 17N 1NN C
3 4 0 3 711 2/11 | 7/11 DN 7INY (N Z| a1'7ax n*7va (B
4 4 3 0 11/9 11/6 | 11/4 [IPIN "T22 X 17N N C
4 5 0 3 6/11|5/11 | 5/11 'PDPIX 170100 Y '9ND II'D A
4 | 5
M2 pyaprr 2yion :NXIN
NN LOIY
RAFREFT T QI WA
|FR"Zaer G>=au> :NIPN VoIV
S _;-_;-j_a_s-,-;-_e, ' = M2 nyapr' 2y1on A NP
e i. D10 'O 7ND : X nxiap

= M6 no'n N7

. Myn



